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X Swap spread : (2Y) 17.17(-0.01), (3Y) 15.98(0.98), (5Y) 8.01(0.83), (10Y) 1.66(0.59), (30Y) -21.13(1.01)
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6M
S=H(bp)
USD Libor 0.12 0.12 - 0.24 0.17 0.17 - 0.26
EURIBOR -0.55 -0.55 - -0.55 -0.53 -0.53 - -0.53
JPY Libor -0.08 -0.08 - -0.08 -0.07 -0.06 A10 -0.06
X Fed Fund Target Rate : 0.00~0.25% / USD Libor Z|X X| : 3M 0.11413% ('21. 9&) 6M 0.14663% ('21. 9&)
> Hg o 2 A JHSEl(bp)
LAXABSS 7 SEA| fZ3a 10.22 10.21 S2t(bp) ES
HE (Aa2/AA) '30. 09 T10+50 1.0 T10+15 (L+14) T10+18 (L+72) A3.0 T10+32 (L+33)
'24. 06 T3+20 0.625 T3+10 -(L+3) T3+10 -(L+4) -
KEXIM (Aa2/AA) '26. 12 T5+35 1.125 T5+23 (L+18) T5+23 (L+17) -
'31.02 T10+38 1.375 T10+42 (L+41) T10+42 (L+41) -
> CDS Spread(5'd, bp)
2AXAESE 10.22 10.21 M UH|(bp) SES @1 % H| (bp) AXH ifnks
HE (Aa2/AA) 19 19 - 22 A31 17 24
KEXIM (Aa2/AA) 20 20 - 23 A30 18 25
X &2 5L M8 5Y CDS : 2K 21,098 17.455 / 2|1 17.098 75.82 (4T %|1X| '08.10€ 692)
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=7t 10.22 HYH| & & H|(%) 3= 10.22 HYH| ¢ 2 H|(%) Al oF
w/U$ 1,177.04 A00 +8.8% Dow 35,677 +739 +18.0%
¥/U$ 113.50 05 +10.1% NIKKE] 28,805 1963 +57% |2 A AS0IM S 22 ME £ S&p,
LIAE X|5= sl2tst @ oLt T £ X| ot
u$/£ 1.3755 A00 +1.4% FTSE 7,205 +143 +9.6% i O3 SRR 10 0L G
u$/€ 1.1643 +0.0 A49% STOXX 4,189 +33.1 +17.5%
w/€ 1,370.12 A19 +33% KOSPI 3,006 A12 +21% (o g0 L3}, $027| YAS Ho|HAHN
/¥ 10.37 +0.0 A11% SHCI 3,583 A122 +23%  |[[ZCHEI 0.17% Bt2tst 93.609 7|2
CNY/U$ 6.3850 A00 A12% HSI 26,127 +109.4 A49%
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o A FEHOHO], A HEARE AH|XE|CHX|$=(10.26), MBA FEEEAL AEX[4=(10.27), tlt H e+ HF A=, GDP A7tz QoQ(10.28)




